2015-2014 Jo%) Gugaaat - ALY B jpateal) A8) pall clualy ) ¢ 3ala A’lﬁ,“ A

T . B i) g (Allad) a)
30 slaa) Aol ol SN plaal

N Sl 40

o .L;_1 d.».ai 1 1.5

e 3 5l “aa —
T Sl sliied snlias 8 10 of 123
( Oy (s g o 600 S
TP 1
PG o) o 348
Os-de s A dha g o 280

th ) S = 9> o <ol o W el g o pld 2

45...... 123 100+40+2 142 125
302 .o 328 (2x 100)+45 ... 235
748 ... 412
tJ o sil 3
100+7=... ... +20+5=125 T
(3x100)+(2x10)+8= ... (- X Y+ (. x...) +. = 247

208 ; 27; 500, 240 ; 322

0.75
_ _ 175

2+2+2=.Xx.=.. Ax3 e ® 4A+4+4

-t = 10xe= 10x3 e ®e5+5+5+5

9X4 e ® 10+10+10




Al eileadt i) 7

25 123 231
+ 13 + 142 + 15
15
IS5 OIS o sl e |9 MoNgeoh &0 o oy lai G a8
M . !
.................................................... N
0.75

Y
ool

\
=




